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./scripts/finetune_inception_resnet_v2_on_flowers.sh if (kakao) dev 2019

if [ ! -d "$PRETRAINED_CHECKPOINT_DIR" ]; then
mkdir ${PRETRAINED CHECKPOINT DIR}
fi
if [ ! -f ${PRETRAINED_CHECKPOINT_DIR}/${MODEL_NAME}.ckpt ]; then
wget http://download.tensorflow.org/models/inception_resnet_v2_2016_08_30.tar.gz
tar -xvf inception_resnet_v2_2016_08_30.tar.gz
mv inception_resnet_v2.ckpt ${PRETRAINED_CHECKPOINT_DIR}/${MODEL_NAME}.ckpt
rm inception_resnet_v2 2016_08_30.tar.gz
fi

python download_and_convert_data.py \
--dataset name=flowers \
--dataset dir=${DATASET DIR}

python train_image_classifier.py \
--train_dir=${TRAIN_DIR} \
--dataset _name=flowers \
--dataset_split_name=train \ - -
--dataset _dir=${DATASET DIR} \ ql E II-*-I O.IOI ol-é 7I‘=
--model _name=${MODEL NAME} \ T— O H* =i o
--checkpoint_path=${PRETRAINED_ CHECKPOINT_DIR}/${MODEL_NAME}.ckpt \
--checkpoint_exclude_scopes=InceptionResnetV2/Logits,InceptionResnetV2/AuxLogits \
--tratnable_scopes=InceptionResnetV2/Logits,InceptionResnetV2/AuxLogits \
--max_number_of_steps= \
--batch _size= \
--learning_rate=0.01 \
--learning_rate_decay_type=fixed \
--save_1interval secs= \
--save_summaries _secs= \
--log_every_n_steps= \
--optimizer=rmsprop \
--welght_decay=0.00004

python eval_image_classifier.py \
--checkpoint_path=${TRAIN_DIR} \
--eval _dir=${TRAIN DIR} \
--dataset name=flowers \
--dataset_split_name=validation \
--dataset _dir=${DATASET DIR} \
--model _name=${MODEL_ NAME }
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Tensorflow slim parameter O|5l{5}7|

tf.app.flags.DEFINE_integer( 'num_clones', 1,

'‘Number of model clones to deploy. Note For
nistorical reasons loss from all clones averaged
'out and learning rate decay happen per clone '
‘epochs ')

tf.app.flags.DEFINE_tinteger(
'‘num_preprocessing_threads', 4,
'The number of threads used to create the batches.')
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if [ ! -d "$PRETRAINED_CHECKPOINT_DIR" ]; then
mkdir ${PRETRAINED CHECKPOINT DIR}
fi
if [ ! -f ${PRETRAINED_CHECKPOINT_DIR}/${MODEL_NAME}.ckpt ]; then
wget http://download.tensorflow.org/models/inception_resnet_v2_2016_08_30.tar.gz
tar -xvf inception_resnet_v2_2016_08_30.tar.gz
mv inception_resnet_v2.ckpt ${PRETRAINED_CHECKPOINT_DIR}/${MODEL_NAME}.ckpt
rm inception_resnet_v2 2016_08_30.tar.gz
fi

python download_and_convert_data.py \

Hyperparameter eatecet otres (DATASET DIR)

python train_image_classifier.py \
--train_dir=${TRAIN DIR} \
--dataset name=flowers \
--dataset_split_name=train \
--dataset_dir=${DATASET_DIR} \
--model _name=${MODEL NAME} \
--checkpoint_path=${PRETRAINED_CHECKPOINT_DIR}/${MODEL_NAME}.ckpt \
--checkpoint_exclude_scopes=InceptionResnetV2/Logits,InceptionResnetV2/AuxLogits \
——trainahle scones=TncentionResnet\/2/1 ogits,InceptionResnetV2/AuxLogits \

--max_number_of_steps= \
° ——batchfsize: N
learning_rate o

--save_1interval_secs=60 \
--save_summaries_secs=60 \
--log_every_n_steps=10 \

Optimizer --optimizer=rmsprop \

--welght_decay=0.00004

python eval_1image_classifier.py \
--checkpoint_path=${TRAIN_DIR} \
--eval _dir=${TRAIN DIR} \
--dataset name=flowers \
--dataset_split_name=validation \
--dataset dir=${DATASET DIR} \
--model name=${MODEL NAME }
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..Overfitting..
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